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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q.1 Twelve years ago, Raman’s age was six years more than half the age of his mother. Six years from now Raman’s mother
will be 1.5 times as old as Raman. What is Raman’s present age?

Ans 1. 56 years
o 2. 54 years
/< 3. 55 years
/< 4. 52 years

Question ID : 6913522116
Option 11D : 6913528464
Option 21D : 6913528462
Option 31D : 6913528463
Option 41D : 6913528461
Status : Answered
Chosen Option : 2

Q2 The change for an object from the liquid state to the gaseous state is known as:
Ans  of 1. Vapourisation

X 2 Acidification

/< 3. Liquification

X 4 Solidification

Question ID : 6913522167
Option 11D : 6913528668
Option 21D : 6913528666
Option 31D : 6913528665
Option 41D : 6913528667
Status : Answered
Chosen Option : 1

@3 1fx? + kx + 3k = 0 has no solution, then the value of k will satisfy
Ans X1 k<12

X2 k>12

K3 k>—12

V4 0<k<12

(& reactingninia.in



Question ID : 6913522123
Option 11D : 6913528491
Option 21D : 6913528492
Option 31D : 6913528489
Option 41D : 6913528490
Status : Marked For Review
Chosen Option : 1

Q4 75 (96 —-18+6—58) +5+4x17 =7
Ans x1. 70

v 2 136

X3 76

X4 7

Question ID : 6913522102
Option 11D : 6913528408
Option 21D : 6913528406
Option 3 ID : 6913528405
Option 41D : 6913528407
Status : Answered
Chosen Option : 2

Q.5 From the top of a platform 17 m high. the angle of elevation of the top of a tower was 30°. If the platform was

positioned 50+/3 m away from the tower, how tall was the tower?

Ans of 1. 67 m
X2 50m

X3 (25V3+17)m
X4 25v3m

Question ID : 6913522124
Option 11D : 6913528496
Option 21D : 6913528493
Option 31D : 6913528495
Option 41D : 6913528494
Status : Answered
Chosen Option : 2

@6 Find the next term in the given series.

C14,1.28, .
Ans of 1. 42
X 2 R42
X 3 T42
X 4 Z42

Question ID : 6913522136
Option 11D : 6913528541
Option 21D : 6913528544
Option 31D : 6913528543
Option 41D : 6913528542
Status : Answered
Chosen Option : 1
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Q7 WWorld’s largest wetland area is in
Ans 1. Goa
2. Kerala

3. West Bengal

4. Andaman and Nicobar islands

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913522197
Option 11D : 6913528787
Option 21D : 6913528785
Option 31D : 6913528786
Option 41D : 6913528788
Status : Answered
Chosen Option : 4
Q8 Which player’s autobiography is named ‘Playing It My Way"?
Ans X 1. Rahul Dravid
7% 2. Kapil Dev
# 3. Vinod Kambli
' 4 Sachin Tendulkar
Question ID : 6913522184
Option 1 ID : 6913528734
Option 21D : 6913528736
Option 31D : 6913528735
Option 41D : 6913528733
Status : Answered
Chosen Option : 2
Q9 During the process, heat energy is formed.
Ans X 1. circulation
/< 2 excretion
/< 3. digestion
« 4 respiration
Question ID : 6913522178
Option 11D : 6913528709
Option 21D : 6913528712
Option 31D : 6913528710
Option 41D : 6913528711
Status : Answered
Chosen Option : 4

061 Select the option that can replace the question mark (?) in the given figure series.

= |

+ < P
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Ans X 1. Parenchyma and sclerenchyma

Ans x 1. D
X2C
K3 A
v+ B
Question ID : 6913522153
Option 11D : 6913528612
Option 21D : 6913528611
Option 31D : 6913528609
Option 41D : 6913528610
Status : Answered
Chosen Option : 4
Q.1 . 7 5 7
1 Find the value of 1- +— +— .
9 12 18
Ans 32
X1 =
12
; 31
X2 2
i8
31
v =
12
; 31
X2
14
Question ID : 6913522101
Option 11D : 6913528402
Option 21D : 6913528404
Option 31D : 6913528401
Option 41D : 6913528403
Status : Answered
Chosen Option : 3
Q; What is the minimum number of lines required to create the following figure?
Ans x 1. 6
v29
X3 8
Xas
Question ID : 6913522152
Option 11D : 6913528606
Option 21D : 6913528608
Option 31D : 6913528605
Option 41D : 6913528607
Status : Answered
Chosen Option : 2
&' Cells of and tissues are living cells.
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< 2. Sclerenchyma and tracheids
/< 3. Collenchyma and sclerenchyma
« 4 Parenchyma and collenchymas

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

1 6913522177
: 6913528705
: 6913528708
: 6913528707
: 6913528706
: Not Answered

Chosen Option : --

4 the same straight path. Find his average speed.

Ans X1 2,00 ms'!
V2 25mgl
X 3.
5 a

1

[

25 ms”
1

[

05 ms”

Q.1 Ram swimsina 75 m long pool. He covers 150 m in one minute by swimming from one end to the other and back along

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6913522156
6913528624
6913528621
6913528622
6913528623
Answered

Chosen Option : 2

5 3ms! to 8 ms™'. What is the magnitude of the applied force?

Ans X 1.10.66 N
v 2 11.66 N
X3 13.66 N
X 41266 N

Q.1 When a constant force acts on an object with a mass of 7 kg for a duration of 3 s, it increases the object’s velocity from

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

Status:
Chosen Option :

6913522158
6913528629
6913528632
6913528631

1 6913528630
Not Attempted and Marked For Review

Qé’ Bronze is a/an:
Ans “ 1. Aﬂﬂy
< 2. Non-metal

75 3. Metal
& 4 Metalloid

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

6913522173
6913528692
6913528690
6913528689
6913528691
Answered

& reachingninia.in



l

Chosen Option : 1

Q.1 A can complete a task alone in 9 days while B takes 13.5 days to do it by herself. Together with C it takes them 4.5 days
7 to complete the task. If C and D together can complete the task in 18 days, then how many days will D need to complete

the task by herself?
Ans x 1. 60
V2 54
X3 48
X445
Question ID : 6913522113
Option 11D : 6913528452
Option 21D : 6913528451
Option 31D : 6913528450
Option 41D : 6913528449
Status : Marked For Review
Chosen Option : 2
a has the least electron affinity.
Ans % 1. Nitrogen
2. Mercury
75 3. Oxygen
< 4 Boron
Question ID : 6913522168
Option 11D : 6913528671
Option 21D : 6913528669
Option 31D : 6913528672
Option 41D : 6913528670
Status : Answered
Chosen Option : 1
Q§1 HELD:
DO GO TGS T Doyt DD LD BIHRD
~grdcaen:
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. o
2. EEEE A FFRG” DL €D 08 AT JowE OV 080D 00 5D
Ans 31 Anfody 2 argen e0R0ndinod
< 2. o0 anfony) 1 e9:008006
X3 1 o 2 26 g
W 4 1 208030 2 Botir Sre 90800
Question ID : 6913522134
Option 11D : 6913528534
Option 21D : 6913528533
Option 31D : 6913528536
Option 41D : 6913528535
Status : Answered
Chosen Option : 2

Ans X' 1. 15172091514

°62 If SOAP written as 1915116, then what is the code for OPTION?
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X 215162081514
X 315162191514
W 4 15162001514

Question ID : 6913522131
Option 11D : 6913528522
Option 2 1D : 6913528523
Option 3 1D : 6913528524
Option 41D : 6913528521
Status : Answered
Chosen Option : 4
%2 Which of the following is an example of an alkaline earth metal?
Ans  of 1. Magnesium
/< 2. Manganese
< 3. Aluminium
X 4 Sodium
Question ID : 6913522174
Option 11D : 6913528696
Option 2 ID : 6913528695
Option 31D : 6913528694
Option 41D : 6913528693
Status : Answered
Chosen Option: 3
Q.2 Pragya obtained an average of 24 marks in 15 tests. Zareen has been maintaining an average of 23 marks so far but has
2 taken only 12 of the tests. If each test is out of 30 marks, at least how much does Zareen have to score in any one of the
remaining 3 tests to still have a chance to match Pragya’s performance?
Ans of 1. 24
X222
X 3 25
X 423
Question ID : 6913522125
Option 11D : 6913528498
Option 21D : 6913528500
Option 3 ID : 6913528497
Option 41D : 6913528499
Status : Answered
Chosen Option : 1
Qéz It was Monday on 5% February 2018. What was the day of the week on 5 February 20097
Ans 3 1. Friday
/< 2. Monday
« 3. Thursday
/< 4. Tuesday
Question ID : 6913522119
Option 11D : 6913528473
Option 2 ID : 6913528474
Option 31D : 6913528476
Option 41D : 6913528475
Status : Answered
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Chosen Option : 1

Qf Find the next term in the below series.

28, 8V, 26Y, .
Ans X 1. 81B
X2 81C
v 3 80B
X 4 80C
Question ID : 6913522137
Option 11D : 6913528546
Option 21D : 6913528548
Option 3 ID : 6913528545
Option 4 ID : 6913528547
Status : Answered
Chosen Option : 3
%2 Who is the author of the book ‘I Do What I do’, published in 20172
Ans o 1. Raghuram Rajan
/< 2. Sanjeev Sanyal
& 3. Venkaiah Naidu
7< 4. Shashi Tharoor
Question ID : 6913522186
Option 1 1D : 6913528744
Option 2 ID : 6913528742
Option 3 ID : 6913528743
Option 41D : 6913528741
Status : Answered
Chosen Option : 1
Qéz Which of the following correctly represents the relationship between:
A) Light
B) Heat
C) Sun
Ans
K (g
Q0
X2 OO
x 4. @
Question ID : 6913522150
Option 11D : 6913528598
Option 2 ID : 6913528600
Option 3 ID : 6913528597
Option 4 1D : 6913528599
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Status : Marked For Review

Chosen Option : 1

a2 is the first metalloid in the modern periodic table.
Ans X 1. Ge
v2B
X3 si
X4 As
Question ID : 6913522175
Option 11D : 6913528698
Option 21D : 6913528699
Option 31D : 6913528700
Option 41D : 6913528697
Status : Answered
Chosen Option : 2
Q.2 Niki walks 5 km towards the west and turns right and walks 1 km and again turns right and walks 2 km. She again turns
8  right and walks 1 km. How far is she from her starting point?
Ans o 1. 3 km
X 2 5km
X3 4km
X 4 2km
Question ID : 6913522154
Option 11D : 6913528616
Option 21D : 6913528613
Option 31D : 6913528614
Option 41D : 6913528615
Status : Answered
Chosen Option : 1
92 The Sunderbans Tiger Reserveis in
Ans 3 1. Bihar
X 2 Assam
+ 3 West Bengal
X 4 Odisha
Question ID : 6913522196
Option 11D : 6913528784
Option 21D : 6913528781
Option 31D : 6913528783
Option 41D : 6913528782
Status : Answered
Chosen Option : 3
Q.3
0
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‘Which figure follows next in the below series?

2
¥/ 0 = = 3 .
T *|o 0 | A
* 0 A * 0 B
P & B A
(4] * C 0 ks D
V[ IE
Ans « 1. C
K2 A
X3 D
X4 B
Question ID : 6913522147
Option 11D : 6913528587
Option 21D : 6913528585
Option 31D : 6913528588
Option 41D : 6913528586
Status : Answered
Chosen Option : 1
Q-3 samar can cover Zth of the distance covered by Swapnali in 5 th of the time taken by the latter. If Swapnali takes 42
minutes to complete the journey, how many minutes would it take Samar to cover the same distance?
Ans X 1. 45
X 2 48
K3 525
v 4 50
Question ID : 6913522114
Option 11D : 6913528453
Option 21D : 6913528454
Option 31D : 6913528456
Option 41D : 6913528455
Status : Answered
Chosen Option : 4

2
Statement:
One electric unit saved is equal to production of two units

Argument:
1. Yes, power consumption is easier than production
II.  No, we can consume power nowadays without the view on production

Ans  of 1. Only argument I is strong
/< 2. Neither I nor II is strong
75 3. Only argument TI is strong

Q.3 A statement is followed by two arguments. Decide which of the arguments is/are strong with respect to the statement.

(& reactingninia.in



/< 4. Either I or II is strong

Chosen Option :

Question ID : 6913522128
Option 11D : 6913528509
Option 21D : 6913528512
Option 31D : 6913528510
Option 41D : 6913528511
Status : Answered
Chosen Option : 2
Q.3 Who was honoured with the Indian Film Personality of 2017 Award at the 4™ International Film Festival Of India
3 rrrp
Ans 3 1. Shammi Kapoor
7< 2. Akshay Kumar
/< 3. Prabhas
+ 4 Amitabh Bachchan
Question ID : 6913522185
Option 11D : 6913528739
Option 21D : 6913528740
Option 31D : 6913528737
Option 41D : 6913528738
Status : Answered
Chosen Option : 1
Q.3 Find the population of a city after 2 years, which is at present 12 lakh, if the rate of increase is 4%.
4
Ans X1, 1207920
v 21297920
2 31300000
X 41297820
Question ID : 6913522111
Option 11D : 6913528442
Option 21D : 6913528441
Option 31D : 6913528444
Option 41D : 6913528443
Status : Answered
Chosen Option : 2
Qé3 The famous football player Maradona belongs to which among the following countries?
Ans X 1. Mexico
v 2 Argentina
/< 3. Germany
X 4 Ireland
Question ID : 6913522183
Option 11D : 6913528731
Option 21D : 6913528729
Option 31D : 6913528730
Option 41D : 6913528732
Status : Not Answered

% 30-[29-{28 - (25-21-22)}] = 2
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Ans x‘], =

X 21
X2
Vi3
Question ID : 6913522106
Option 11D : 6913528422
Option 2 ID : 6913528424
Option 31D : 6913528423
Option 4 1D : 6913528421
Status : Answered
Chosen Option : 4
Qf The svstem of scientific naming or nomenclature was introduced by:
Ans  of 1. Linnaeus
/< 2. Haeckel
/X 3. Darwin
/< 4. Dobereiner
Question ID : 6913522176
Option 11D : 6913528701
Option 2 ID : 6913528704
Option 3 ID : 6913528703
Option 4 1D : 6913528702
Status : Answered
Chosen Option : 1
Q3 : . NN —
g The 14th Hockey World Cup will be held in which part of India in 20187
Ans < 1. Thansi
+ 2 Bhubaneswar
/< 3. Mumbai
/X 4 Patna
Question ID : 6913522181
Option 1 ID : 6913528723
Option 21D : 6913528722
Option 3 ID : 6913528724
Option 4 ID : 6913528721
Status : Answered
Chosen Option : 2
@3 An insulator offers resistance.
Ans 1. zero
X 2 low
/< 3. appreciable
+ 4 high
Question ID : 6913522165
Option 11D : 6913528657
Option 2 ID : 6913528658
Option 31D : 6913528659
Option 4 1D : 6913528660
Status : Answered
Chosen Option : 4
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[ €

summ invested?

Ans 1. 2,550

Q.4 Atgos simple interest per annum a certain sum yields a total amount of ¥ 3,228 at the end of 5 % years. What was the

< 2 T2,600
< 3 T2.350
v 4 T2,400
Question ID : 6913522112
Option 11D : 6913528448
Option 21D : 6913528446
Option 3 ID : 6913528447
Option 4 1D : 6913528445
Status : Answered
Chosen Option : 4
Q4 an object of mass 20 kg is moving with a uniform velocity of 8ms™! The kinetic energy possessed by the object is:
1
Ans -
&1 640 ms!
X 2 640 Pa
X 3 640N
v 6401
Question ID : 6913522160
Option 11D : 6913528640
Option 21D : 6913528639
Option 31D : 6913528637
Option 41D : 6913528638
Status : Answered
Chosen Option : 4
@4 Complete the number serjés by ehoosing the missing terms
5678, 6778, 7878, 2, 2, 101178
Ans 5 1. 8878, 91078
2. 8978, 91078
< 3. 8988, 91078
/< 4 8988, 0978
Question ID : 6913522139
Option 11D : 6913528554
Option 2 ID : 6913528555
Option 31D : 6913528556
Option 41D : 6913528553
Status : Answered
Chosen Option : 2

Qé" %/o.000027
+0.0004

Ans X 1.0.015
X215
VER R
X 40.15
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Question ID : 6913522108
Option 11D : 6913528429
Option 2 ID : 6913528432
Option 3 ID : 6913528431
Option 41D : 6913528430
Status : Answered
Chosen Option : 3
@4 The number of atoms constituting a molecule is called:
Ans % 1. Molarity
' 2 Atomicity
/< 3. Normality
< 4 Valency
Question ID : 6913522169
Option 11D : 6913528673
Option 21D : 6913528675
Option 3 ID : 6913528674
Option 4 1D : 6913528676
Status : Answered
Chosen Option : 2
Q.4 After buying a toy for ¥ 132, Shabir managed to sell it at a profit of 15%. The selling price of the toy was:
5
Ans X 1. %151.90
v 2 %151.80
< 3 %150.60
X 4 %150.80
Question ID : 6913522110
Option 11D : 6913528440
Option 2 ID : 6913528438
Option 3 ID : 6913528439
Option 41D : 6913528437
Status : Answered
Chosen Option : 2
@4 In pure water, the concentration(s) of:
Ans 44 . 3 k
# 1. H ions is equal to that of oxide ions
# 2 H and OH ions are unequal
/< 3. OH ions is more than that of oxides
v 4 H" and OH" ions are equal
Question ID : 6913522171
Option 11D : 6913528683
Option 21D : 6913528681
Option 3 1D : 6913528684
Option 41D : 6913528682
Status : Answered
Chosen Option : 4
Qf character predominates and is clearly seen in F; Generation.
Ans
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#< 1. Inherited
X 2 Allele

v 3. Dominated
< 4 Recessive

Question ID

Option 2 ID

: 6913522179
Option 11D :
1 6913528716
Option 31D :
Option 41D :
Status :

Chosen Option :

6913528714

6913528715
6913528713
Not Answered

94 1.004-0.4 is equal to:

Ans X 1. 0.640
X21
X 3. 0.006
v 4 0.604
Question ID : 6913522103
Option 11D : 6913528412
Option 21D : 6913528410
Option 31D : 6913528409
Option 41D : 6913528411
Status : Answered
Chosen Option : 4
Q.4 _ isaconsumption tax placed on a product whenever value is added at each stage of the supply chain, from
9 production to the point of sale.
Ans of 1. VAT
< 2. Income tax
/< 3. Custom duty
X 4 GST
Question ID : 6913522198
Option 11D : 6913528791
Option 21D : 6913528789
Option 31D : 6913528792
Option 41D : 6913528790
Status : Answered
Chosen Option : 3

0
Statement:
“Come, let us have some ice cream,” said Lalitha to her friend.
Assumptions:

1. Lalitha did have ice cream earlier.
II.  Lalitha and her friend like ice cream.

Ans 3 1. Only I is implicit

/< 2. Both I and IT are implicit
/< 3. Neither I nor II is implicit
« 4 Only IT is implicit

Q.5 Consider the given statement(s) and decide which of the given assumption(s) is/are implicit in the statement.

Question ID : 6913522133

]
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Option 11D : 6913528529
Option 21D : 6913528532
Option 31D : 6913528531
Option 41D : 6913528530
Status : Answered
Chosen Option : 3
°1’5 Select the lateral mirror image of TOUCH from the given Option Figures.
Option Figures:
TOUCH | HauaT || LO7ICH | | HINOL |
A B C D
Ans X1 D
v2B
X3 C
K4 A
Question ID : 6913522155
Option 11D : 6913528620
Option 21D : 6913528618
Option 31D : 6913528619
Option 41D : 6913528617
Status : Answered
Chosen Option : 2
@5 The fuel used in the nuclear reactor is:
Ans 1. Gallium
/< 2. Germanium
X 3. Potassium
v 4 Uranium
Question ID : 6913522166
Option 11D : 6913528662
Option 21D : 6913528663
Option 31D : 6913528661
Option 41D : 6913528664
Status : Answered
Chosen Option : 4
Q.5 Shrinath switched on a bulb at 1 : 44 : 41 hours and switched it off on the same day at 11: 35 : 35 hours. For how long
3 was the bulb in switched-on mode?
Ans  of 1. 9 hours 50 minutes 54 seconds
< 2. 9 hours 09 minutes 06 seconds
#< 3. 10 hours 09 minutes 06 seconds
#< 4. 12 hours 40 minutes 06 seconds
Question ID : 6913522118
Option 11D : 6913528471
Option 21D : 6913528472
Option 31D : 6913528470
Option 41D : 6913528469
Status : Answered
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l Chosen Option : 1

Q.5 The mega event Global Entrepreneurship Summit (GES-2017) in Hyderabad was co-hosted by NITI Aayog. What is the
4 full form of NITI?

Ans X 1. Nation Institute Teaching India
+ 2 National Institution for Transforming India

#< 3. National Institution Towards India
/< 4 National India Transforming Information

Question ID : 6913522187
Option 11D : 6913528748
Option 21D : 6913528745
Option 31D : 6913528746
Option 41D : 6913528747
Status : Answered
Chosen Option : 2
%° What is the next term in the given series?
320504 G
Ans x 1. 10
K28
K37
v
Question ID : 6913522138
Option 11D : 6913528552
Option 21D : 6913528551
Option 31D : 6913528549
Option 41D : 6913528550
Status : Answered
Chosen Option : 4
065 Flour is related to Bread in the'same way as Clay is related to:
Ans of 1. Pot
< 2 Wet
< 3. Round
/< 4 Brown
Question ID : 6913522127
Option 11D : 6913528506
Option 21D : 6913528507
Option 31D : 6913528505
Option 41D : 6913528508
Status : Answered
Chosen Option : 1
Q.5
7
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You are given two statements and two conclusions. Read them carefully and select which of the conclusions logically
follow(s) from the statements.
Statement:
e All mobiles are electronics
s All electronics are chips
Conclusions:
1. All chips are mobiles
2. All mobiles are chips
Ans 1. None of the conclusions follows.
+ 2. Only conclusion 2 follows
/< 3. Only conclusion 1 follows
< 4 Both the conclusions follow
Question ID : 6913522126
Option 11D : 6913528504
Option 2 1D : 6913528501
Option 31D : 6913528503
Option 41D : 6913528502
Status : Answered
Chosen Option : 2
Q.5 13 barrels of wine fill a tank when the capacity of each barrel is 51 litres. How many barrels will be needed to fill the
8  same tank, if the capacity of each barrel is 17 litres?
Ans of 1. 39
X2 37
X3 91
X4 42
Question ID : 6913522117
Option 11D : 6913528466
Option 21D : 6913528467
Option 3 ID : 6913528465
Option 41D : 6913528468
Status : Answered
Chosen Option : 1
Qé5 In a code language, BELL is written as 2511. What is the code for YEARN?
Ans X1, 25114
< 2 26111
< 3. 25115
v 4 25111
Question ID : 6913522129
Option 11D : 6913528513
Option 21D : 6913528516
Option 31D : 6913528515
Option 41D : 6913528514
Status : Marked For Review
Chosen Option : 3
@6 As of August 2018, who is the union HRD minister of India?
Ans 1. Piyush Goyal
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/< 2. Ravi Shankar Prasad
v 3 Prakash Javadekar
< 4 Smriti Irani

Question ID : 6913522193
Option 11D : 6913528771
Option 21D : 6913528769
Option 31D : 6913528770
Option 41D : 6913528772
Status : Answered
Chosen Option : 3
°1'5 Who is the Union Home Minister of India as of March 20187
Ans 3 1. Arun Jaitley
+ 2 Rajnath Singh
7% 3. Radha Mohan Singh
7< 4. Sushma Swaraj
Question ID : 6913522191
Option 11D : 6913528762
Option 2D : 6913528763
Option 31D : 6913528761
Option 41D : 6913528764
Status : Answered
Chosen Option : 2
Q.6 Navin and Santanu have a total of T 147 between them. Santznu and Avani have ¥ 173 between them, and Avani and
2 Navin have T 150 between them. How much money does Navin have?
Ans X 1. T 67
X2 3T60
v ZTe2
X4370
Question ID : 6913522121
Option 11D : 6913528483
Option 21D : 6913528481
Option 31D : 6913528482
Option 41D : 6913528484
Status : Answered
Chosen Option : 3
Q.6 Ram swims in an 88 m long pool. He covers 176 m in one minute by swimming from one end to the other and back
3 along the same straight path. Find his average speed.
Ane X1 2,67 ms!
v 2 293 mg!
X3 2,60 ms!
X 4 367 ms
Question ID : 6913522157
Option 11D : 6913528626
Option 21D : 6913528627
Option 31D : 6913528625
Option 41D : 6913528628
Status : Answered
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l Chosen Option : 2

Ans J-]. C
X2 B
X3 A
X4D

I
Yozl Tes] | 4]
1 ir=Ta al|yY
A B
* [a
/ |
A5 R
C D
o'y
<[/ ||l 1oz
VY| =

Q¢ Study the following patterns and identify which figure will follow next.

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

6913522148
6913528591
6913528590
6913528589

: 6913528592
Status :
Chosen Option :

Answered
1

Ans of 1 3
X25
X3 7
F N |

% 129+ [46— {93+ (35-182% 11X 3)}] =

Question ID :
Option 11D :

Option 2 ID

6913522107
6913528426

1 6913528427
Option 31D :
Option 41D :

Status :

Chosen Option :

6913528428
6913528425
Answered

1

Ans  of 131825
< 2 31925
< 3. 30825
< 4 31835

066 In a code language, MEND is written as 3544. What is the code for CURVE?

Question ID : 6913522130

1
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Option 11D : 6913528520
Option 21D : 6913528517
Option 31D : 6913528519
Option 41D : 6913528518
Status : Answered
Chosen Option : 1

07-5 Which pattern, of the ones shown in the below options, resembles closest to:

A B Cc D
O12® €

Ans 1 )
2. A
3. B
4 C

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913522144
Option 11D : 6913528576
Option 2 ID : 6913528573
Option 31D : 6913528574
Option 41D : 6913528575
Status : Answered
Chosen Option : 1

Q.6 Seven-ninths of my current age is the same as five-sixths of that of one of my cousins. Thirty-nine years ago my age

8 was twice his age. My currentageis  years.
Ans x 1. 60
X2 55
V'3 45
X 450

Question ID : 6913522120
Option 11D : 6913528479
Option 21D : 6913528477
Option 3 ID : 6913528480
Option 41D : 6913528478
Status : Not Attempted and Marked For Review
Chosen Option : --

Qéﬁ What does the Mangalyaan on the reverse of the Indian ¥ 2.000 banknote depict?

Ans 3 1. Technological development of India
/< 2. Indian economic development
« 3 India’s first venture in interplanetary space

/< 4. Indian spacecraft power

Question ID : 6913522200 ]
Option 11D : 6913528799
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Option 21D : 6913528797
Option 31D : 6913528800
Option 41D : 6913528798
Status : Answered
Chosen Option : 4

067 The chromosomal condition in human females is:

Ans 1. 3%+ X)
2.22+YY
3. 22+ XX
4 22+ XY

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913522180
Option 11D : 6913528717
Option 21D : 6913528719
Option 31D : 6913528720
Option 41D : 6913528718
Status : Answered
Chosen Option : 3

Q.7 The product of two numbers is 55. If one of the numbers is 2.50, what is the other number?
1

Ans ?‘:1- 26
X2 25
Vs 22
X424

Question ID : 6913522105
Option 11D : 6913528417
Option 21D : 6913528420
Option 31D : 6913528418
Option 41D : 6913528419
Status : Answered
Chosen Option : 3

Q.7 A statement is followed by two arguments. Decide which of the arguments is/are strong with respect to the statement.
2

Statement:

Should government run campaigns to create mass awareness to use fuel responsibly?

Arguments:

I.  Yes, awareness creates the amount of natural resources used to generate electricity. This will create a sense of
responsibility in the citizens.

II.  No, urbanisation has made people get used to comforts. It is very difficult to educate the mass and form
discipline.

Ans 5 1. Both I and II are strong.
X 2. Only argument II is strong.
« 3 Only argument I is strong.
< 4 Neither I nor II is strong.

Question ID : 6913522135
Option 11D : 6913528537
Option 21D : 6913528538
Option 31D : 6913528540
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Option 4 1D : 6913528539

Status : Not Attempted and Marked For Review
Chosen Option : --

%7 The name ‘India’ comes from the
Ans 1. Ganges River

7% 2. Bhagirathi River

' 3 Indus River

/< 4. Brahmaputra River

Question ID : 6913522194
Option 11D : 6913528775
Option 2 ID : 6913528776
Option 31D : 6913528773
Option 41D : 6913528774
Status : Answered
Chosen Option : 3

Q.7 Louis has 3 routes to reach office. Route-1 is 5 km, route2 is 7 km and route3 is 4 km. Based on the traffic condition he
4 takes different routes. Every Monday there is heavy traffic on Route-2 and Route-3 and Tuesdays and Wednesdays there
would be multiple diversions on Route-1 and Route-3. Thursday and Friday he prefers to go by Route-3. Assume he
works 5 days a week. In 4 consecutive weeks, how many days will he take Route-2 and how many kilometres will he
have travelled on Route-2?

Ans % 1. 4 days, 28 km
/< 2. 8days, 121 km
« 3 §days, 112km
75 4 4 days, 14 km

Question ID : 6913522151
Option 11D : 6913528604
Option 21D : 6913528601
Option 3 ID : 6913528602
Option 41D : 6913528603
Status : Not Attempted and Marked For Review
Chosen Option : --

Qé7 According to the World Bank, what was India’s GDP at the end of 2017?

Ans 1. $3.197 trillion
v 2 $2.597 trillion
< 3. $4.234 billion
< 4. $ 1.009 billion

Question ID : 6913522199
Option 11D : 6913528793
Option 21D : 6913528796
Option 31D : 6913528794
Option 41D : 6913528795
Status : Not Answered
Chosen Option : --

067 In quadratic equation ¢x? + bx + ¢ = 0 find the ratio b : ¢ if the given equation has equal roots.

Ans X1_1:2
v22:1
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X3 4:1

X41:4
Question ID : 6913522122
Option 11D : 6913528487
Option 21D : 6913528486
Option 3 1D : 6913528485
Option 41D : 6913528488
Status : Answered
Chosen Option : 2
Q.7 @adyd Hsod(en) coboin a7 Jo ey DTEROR I SOD0E. HEOD(0) H0E 658) Sorr VDBRDY
7 DGO Docnfod,
DeeD:
Dots D6 HFco Edo DFI) DECHM SHB0ID 28 65 &) DEGDEIS Jodtokr.
Aordeaen:
-]
. &0l Zodad Doas DOGHDO QRDED.
Il esDots Hudad D) DECYHVN AFGD QHDETED.
Ans X 1. Dot DGROEeeD RGO 0.
v 2 o | O ] eoruddodEodqo.
X 3. QPO Il réiady e9:0R02000.
X 4. Dgeoes | ety e9c008z0d
Question ID : 6913522132
Option 11D : 6913528527
Option 21D : 6913528528
Option 31D : 6913528526
Option 41D : 6913528525
Status : Answered
Chosen Option : 2
Q.7 Who among the following has been chosen as an Advocacy Ambassador of Hindustan Unilever Limited (HUL)'s
8  -Swachh Aadat, Swachh Bharat’ programme in line with the Government of India’s Swachh Bharat Abhiyan?
Ans 3 1. Vidya Balan
+ 2 Kajol
#< 3. Amitabh Bachchan
/< 4. Privanka Chopra
Question ID : 6913522188
Option 11D : 6913528749
Option 21D : 6913528751
Option 31D : 6913528750
Option 41D : 6913528752
Status : Answered
Chosen Option : 3

%7 Which of the following does NOT belong to this group?
A. Scale
B. Ruler
C. Inch tape

D. Rope
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Ans x‘],

= 00w

Question ID : 6913522145
Option 11D : 6913528578
Option 21D : 6913528580
Option 31D : 6913528579
Option 41D : 6913528577
Status : Answered
Chosen Option : 2

068 The Gol Gumbaz, having the second-largest dome in the world, is located in
Ans X 1. Golconda
/< 2. Gulbarga

< 3. Berar
v 4 Vijayapura

Question ID : 6913522195
Option 11D : 6913528779
Option 2 ID : 6913528777
Option 31D : 6913528780
Option 41D : 6913528778
Status : Not Answered
Chosen Option : --

Q.8 A Club houses the following amenities with the following usage charges per month: ¥ 200 for the Gym. % 600 for using
1 the Swimming Pool. The following is a table showing their curren: list of cistomers using the amenities. What is the
total income they receive from the Swimming Pool users in a month?

Amenities No. of

users

Gym 200

Swimming | 300
pool

Ans 3 1. % 2,00,000
X 2 %1,50,000
75 3. ¥3,00.000
4 %1.,80,000

Question ID : 6913522140
Option 11D : 6913528557
Option 21D : 6913528559
Option 31D : 6913528560
Option 41D : 6913528558
Status : Answered
Chosen Option : 4

Qéa The matter or subject through which sound is transmitted is called as:
Ans 1. Vaccum

v 2. Medium

X 3. Scalar
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7% 4. Transport

Question ID : 6913522163
Option 11D : 6913528651
Option 21D : 6913528649
Option 31D : 6913528650
Option 41D : 6913528652
Status : Answered
Chosen Option : 2
%8 The square root of 8836 is
Ans X 1. 84
v 2 94
<3 96
X 4 86
Question ID : 6913522104
Option 11D : 6913528416
Option 21D : 6913528413
Option 3ID : 6913528414
Option 41D : 6913528415
Status : Answered
Chosen Option : 2
Q.8 Who among the following has been selected as the Horticulture Ambassadorof Mabarashtra ?
4
Ans 1. Rekha
v 2. Amitabh Bachchan
/< 3. Akshay Kumar
/< 4. Jaya Bachchan
Question ID : 6913522190
Option 11D : 6913528760
Option 21D : 6913528758
Option 31D : 6913528759
Option 4 1D : 6913528757
Status : Answered
Chosen Option : 1
Q.8 Ifabulb uses energy of 100 T and remains on for 20 seconds, then the power consumed by the bulb is:
5
Ans X 1. 20W
X 2 02W
X3 1w
v 5W
Question ID : 6913522162
Option 11D : 6913528645
Option 21D : 6913528646
Option 31D : 6913528647
Option 41D : 6913528648
Status : Answered
Chosen Option : 4
Q.8
6
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You are given a question and two statements. Identify which of the statements Is/are necessary/sufficient to answer the question.
Question:

What is the rank of Nitya?

Statements:
1. There are 25 students in a class

2. There are 15 students who have scored less than Nitya
Ans 3 1. Statement 1 alone is sufficient.

/< 2. Statement 1 and 2 together are not sufficient.
« 3 Statements 1 and 2 together are sufficient.
/< 4 Statement 2 alone is sufficient.

Question ID : 6913522141
Option 11D : 6913528561
Option 21D : 6913528563
Option 3 ID : 6913528564
Option 4 ID : 6913528562
Status : Answered
Chosen Option : 3
%8 Which does NOT belong to this group:
A. Make
B. Steam
C. Bake
D. Boil
Ans ( 1. A
X2C
X3 D
X4 B
Question ID : 6913522146
Option 11D : 6913528581
Option 21D : 6913528583
Option 31D : 6913528584
Option 4 ID : 6913528582
Status : Answered
Chosen Option : 1
Qés When an arrow is released from its bow, its energy is transformed from .
Ans 3 1. kinetic energy to potential energy
/< 2. electrical energy to potential energy
« 3 potential energy to kinetic energy
/< 4. heat energy to kinetic energy
Question ID : 6913522161
Option 11D : 6913528644
Option 21D : 6913528643
Option 3 ID : 6913528642
Option 4 ID : 6913528641
Status : Answered
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l Chosen Option : 3 J

Q.8 You are given a question and two statements. Identify which of the statements is/are necessary/sufficient to answer the
9 question.
Question:
Among the bags A, B, C .Which bag is the second-heaviest?
Statements:

1. Bis heavier than A
2. Ais lighter than C

Ans X 1. Statement 2 alone is sufficient.
v 2 Statement 1 and 2 are not sufficient.

/< 3. Statement 1 and 2 together are sufficient.

/X 4 Statement | alone is sufficient.

Question ID : 6913522143
Option 11D : 6913528571
Option 21D : 6913528569
Option 31D : 6913528572
Option 41D : 6913528570
Status : Answered
Chosen Option : 2

@9 The value of 100 °C temperature in Kelvin is equal to

ans X 1. —373K
X 2 273K
X3 73K

v 2 373K

Question ID : 6913522170
Option 11D : 6913528680
Option 21D : 6913528677
Option 31D : 6913528679
Option 41D : 6913528678
Status : Answered
Chosen Option : 4

%9 The valency of mercurous ion is:

Ans x‘]. g
v21
X3 4
X2

Question ID : 6913522172
Option 11D : 6913528687
Option 2 1D : 6913528685
Option 31D : 6913528688
Option 4 1D : 6913528686
Status : Not Attempted and Marked For Review
Chosen Option : --

°2-9 A man buys 5 pens for 1 rupee and sells 4 for 1 rupee. Find his gain percent.
Ans of 1. 25%
X 2. 40%
X 3. 20%
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X 4. 50%

Option 1 ID

Question ID :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913522109
1 6913528435
6913528433
6913528436
6913528434
Answered

1

°é9 The momentum of an object of mass ‘m’, moving with a velocity ‘v, is given by:

Ans V‘] iy
X 2 mu?

X 3. %mvz

X 4 (mv)?

Question ID : 6913522159
Option 11D : 6913528635
Option 21D : 6913528634
Option 31D : 6913528636
Option 4 D : 6913528633
Status : Answered
Chosen Option : 2
Q.9 Who was conferred with the 2018 Padma Shri award in the field of Social Work from Maharashtra?
4
Ans X 1. M Venkatesh Kumar
+ 2 Sampat Ramteke
#< 3. Tulasidas Borkar
4 Mamta Chandrakar
Question ID : 6913522189
Option 11D : 6913528754
Option 21D : 6913528756
Option 31D : 6913528753
Option 41D : 6913528755
Status : Answered
Chosen Option: 1
Q.9 Paulson belongs to Town A and Robson belongs to Town B. They start their journey towards each other’s towns
5 following the same route at the same time. They meet somewhere on the way and continue with their journey. After
meeting Robson, Paulson takes another 2 hours to reach the destination while Robson takes another 4.5 hours to reach
Paulson’s town. If Robson travelled at the speed of 30 kiv/h, find’s Paulson’s speed in km/h.
Ans of 1. 45
X2 425
X3 475
X 4. 40
Question ID : 6913522115
Option 11D : 6913528459
Option 21D : 6913528458
Option 31D : 6913528460
Option 41D : 6913528457
Status : Not Answered
Chosen Option : --

Q.9
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6 Who is the current union minister of Finance?
Ans 3 1. Rajnath Singh

« 2 Arun Jaitley
/< 3. Kalraj Mishra
#< 4 Ananth Kumar

Option 1 ID

Status

Question ID :
Option 21D :
Option 31D :
Option 41D :

Chosen Option :

6913522192
: 6913528765
6913528766
6913528768
6913528767
. Answered

2

07-9 Read the question below, followed by 3 statements.

Question:
Leela has 10 hair clips of 4 different colours. Find how many blue clips she has?

Statements:

. There are 2 red clips

2. The number of vellow clips are twice that of red clips

3. Green clips constitute one-third of the total number of red and yvellow clips
Which statement(s) is/are sufficient to answer the above question?

Ans 1. Statement 1 alone is sufficient
« 2 Statements 1, 2 and 3 together are sufficient
/< 3. Statements 1 and 2 together are sufficient

/< 4 Statement 2 alone is sufficient

Option 1 ID

Question ID :

6913522142

1 6913528565
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

6913528568
6913528567
6913528566
Answered

2

Qég If a wave completes 20 vibrations in 2.5 s, then its frequency is:

Ans X 1. 4 Hz
X2 1Hz
X3 2Hz
v 8Hz

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :

Chosen Option

6913522164
6913528654
6913528656
6913528655

1 6913528653

Answered

14

Q.9 On which day Major Dhyanchand’s birthday is celebrated as National Sports Day in India?
9

A K1 April 20
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X 2 October 291
v 3. August 20t

X 4 December 20t

Question ID

1 6913522182
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

6913528725
6913528727
6913528726
6913528728
Answered

3

%}; Which of the options bears the closest resemblance to the following figure?

P

Ans x1_

X
0w g o

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
14

6913522149
6913528593
6913528596
6913528594
6913528595
Answered
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